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1. Differentiate y = arctan e® + arcsec x> 12.
i 2
rarcsinx
2. Evaluate | —— dx
V1—zt
dx
3. Evaluate / _
V9 + 1622 13.
5 22
4. Evaluate / ———dr
2 Vo1 14.
5. Evaluate / csct zv/cot z dx
62
6. Evaluate / (Inz)? dz
€ 15.
7. Evaluate / sin? z + cos® 2z dz
16.
8. Evaluate / z2e3% dx
. _ 5 32
9. Find the area of the region bound by y = x* and y = = between z = 1 17
- .
and z = 2.
10. Set up, but do not evaluate, an integral that yields the volume of the solid
obtained by revolving the region bound by y = 1+ cos z, and y = 1 from
r=0tox = % 18.
(a) about the z-axis, (b) about the y-axis.
11. Evaluate each limit.
1 —tanx 2
a) lim ——— b) 1 Ve
(@ R S e (b) lim (cos ) 19.
ANSWERS
T
Lo 2 11.
1+e2* gz —1
12.
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4. 356/15
15.
5. —%cot3/2m—%cot7/2x+c 16.
6. e(2e — 1)
7. %x+%sin2m—%sin32m+c 17
8. %x2e3z _ %xEBE + %631 +C
9. 49/4
10. (@) 7r/2 {(1+COSLL‘)2 - 1} dz (b) 27r/2 T cos T dx 18.
0 0
19.

Determine whether each improper integral converges or diverges. If it con-
verges give its limit.
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Solve the differential equation cos? :cd—y = sec 2y for the initial condition
X
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wherez = T andy = ¢.

Determine the whether the sequence converges or diverges. If the sequence
converges give its limit.
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narcsin — o .
n

>\ 3 —2n
Find the sum of the series Z .
o 47L

Determine whether each series converges or diverges.
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For each alternating series, determine whether the series is absolutely con-
vergent, conditionally convergent, or divergent.
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n=1 € =1+ Vn2
Determine the interval of convergence of the power series
i 2" (z — 3)"
n=1 n? -

Find the first four terms of the Maclaurin series of f(x) = e~3%.
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(a) The integral converges to In 2.
(b) The integral diverges (to co).

2sin2y = 4tanz 4+ /3 — 4
The sequence converges to 1.
The series converges to 2.
(a
(b)
©
@

(b)

The series diverges by the integral test.
The series diverges by the vanishing criterion (an, — 1/2/3).
The series converges by the root test ( ¥/an, = (Inn)/n — 0).

Since (n + 2)! > e™ if n > 1, the series diverges by the vanishing
criterion.
The series is conditionally convergent by the AST, and the LCT with

Sin—2/3,
The interval of convergence of the series is [%, %]

T3(x) =1-3z+ %xQ — %mg



